Answer Keys to HW 7

za[n] Xa(©)
1¢ 1
® | z
la)1 se0sestotsoseseste B
1b) ¢4k o
1 xp[n] 1
(®) .
ve /" ©00040000]vo0so00so R R
1C) 1 _ -"\Ir-(.l_jQ k -
1,59
"
d) ——5
) 1 — ye %
) 1
le 0 -
1 + ye—i
1 — ~2

1) 1 — 2y cos(2) +~2

2a -
: 1— =9
1.5 (eI 4 [No(e?? — 1) — 1]e?¥WNo+h) =72 LN (772 — 1) — 1]e7 2 No+1)
2b) No ( (e75t — 1)2 - (e=7% —1)2
sin(2n sin(n 1 . n 2 . 2n
> ( )+ ( ) = —sInc (—) + —sInc (—)
™ T T 7 T

4a) ¢ I [4cos(Q) + 8 cos(20)]

aby e 733 4 4 cos(Q) + 2 cos(2Q)]




5a)

LY Lj(1—m)Q2
R eJ _ ei(1—m)
) € e g A (:_.._jﬂ —

ae y
Sc .
) eI —
LY.
5d) ~y =TT €
f eI — Y I
{-_-_.j(l—m)ﬂ
5¢) A
e : .

ﬁr__(;,j{ 1—-m)Q2

[

ve j§2 e—Jm Y

D (€7 — ~)2 - (€72 — ~)2

= ) — 2k
6 X(Q)=2 ) A(f)

k=—oc
| R T o T
@ 5 [X(Q@-2)+X(©Q+3)]
1. 3« i 3
6 3 JX(Q—I)—I—)&(SH—?
| o
6) X(Q2—7)+ X(Q+ )]

Problem 6
X(Q)
2
- -z 3
Xa(9)
2l
1,,
_.W | _II | | é 9
2 2
6a
Xu(Q)
2__




